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QUESTION 1

Inspect the query: 

Mysql>SELECT dept_no, emp_no FROM employees JOIN dept _manager USING(emp_no) WHERE 

dept_no\\'d004\\'; 

4 rows in set (0.00 sec) 

Mysql>EXPLAIN SELECT dept_no, emp_no FROM employees JOIN dept_manager USING (emp_no) WHERE
dept_no=\\'d004\\'; 

2 rows in set (0.00 sec) 

Which two statements are true about the EXPLAIN output? 

A. All data for the result is read from the indexex. 

B. The PRIMARY KEY is used for filtering in both tables. 

C. The minimal number of rows possible are read. 

D. The dept_manager table has 4 times as many rows than the employees table. 

Correct Answer: C 

 

QUESTION 2

You want to load data directly from a file into MYSQL by using the SOURCE command. Which types of data can the file
contains to perform this? 

A. SQL commands 

B. Comma-delimited data 
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C. Tab-delimited data 

D. MyISAM or InnoDB data files 

Correct Answer: B 

 

QUESTION 3

Consider the structures of the country and countrylanguage tables. 

mysql >DESCRIBE country; 

mysql> DESCRIBE countrylanguage; 

Which query will give you the list of all European countries where German is spoken? 

A. SELECT Code AS c, Name FROM Country WHERE Continent = `Europe\\' AND EXISTS ( SELECT * FROM
CountryLanguage WHERE CountryCode = Code And Language= `German\\' ) 

B. SELECT Code AS c, Name FROM Country WHERE Continent = `Europe\\' AND Name IN ( SELECT * FROM
CountryLanguage WHERE CountryCode = Code AND Language =\\'German\\' ) 

C. SELECT Code AS c, Name FROM Country WHERE Continent = ` Europe\\' AND EXIST ANY ( SELECT Language,
CountryCode FROM CountryLanguage WHERE CountryCode =Code AND Language = `German\\' ) 

D. SELECT Code AS c, Name FROM Country WHERE Continent = `Europe\\' AND ( SELECT * FROM
CountryLanguage WHERE CountryCode =Code AND Language =\\'German\\' ) 

Correct Answer: C 

 

QUESTION 4

Your application is running slow. 

Which two features provide information that help to identify problems? 

A. The MYSQL error log 
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B. The slow query log 

C. The performance schema 

D. The GET DIAGNOSTICS statement 

Correct Answer: BC 

 

QUESTION 5

You wish to create a trigger on the country table. It will populate two session variables based on the row that is deleted:
@old _countryNames with the value of the Name field @old _countryName with the value of the code field 

You may assume that only one row is ever deleted at a time. CREATE TRIGGER Country_ad AFTER DELETE ON
Country FOR EACH ROW SET 

@old _CountryName= NEW.Name, 

@

 old _CountryCode=NEW.Code; 

What is the outcome of the CREATE TRIGGER statement? 

A. 

The trigger will be created successfully. 

B. 

An error results because the NEW keyword cannot be used in a DELETE trigger. 

C. 

An error results because FOR EACH ROW is invalid syntax. 

D. 

An error results because a BEGIN. . .END block is required. 

Correct Answer: C 
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